SGC BLOCK

LIFT KIT
FITS EZGO MARATHON, ELEC




N

LIFT KIT INSTALLATION INSTRUCTIONS
EZGO MARATHON ELEC, 80-94

AR S A

Hardware
3/8" x 1-1/2" Bolts 8
3/8" x 1-1/4" Bolts 10
3/8" x 1" Bolts 2
3/8" Top U-Bolts 4
3/8" x 1-7/8" Bottom U-Bolts 4
3/8" Lock Nuts 36
3/8" Flat Washers 56

Y &

Rear Installation:

Raise the rear as high as possible and place jack stands to support the car.

Remove the tires, rear body inspection cover and top shock mounts and keep the hardware.
Place a floor jack under the rear axle. Remove the mounting U-bolts, lower the axle and
install the risers to the springs.

Make sure the centering pins are in place as you tighten the U-bolts.

Install the axle assembly to the riser with the new hardware U-bolts.

Install the shock risers using 2 of the 1” bolts and tighten the shock nuts until the rubber

PP

“ bushing is the same diameter as the washer. Torque the U-bolts to 30 foot pounds.
N
\ Access Panel Shock Riser Bolt
risers and u-bolts
\ 4 WWW.STEELENGGOLFCART.COM

BN N N N N N N NAENE s

N\
K £ £ &

P p ra

b b £ S 4 £

£

ra

& g L £ £ £



Front Installation:

Drag
Link Rod

Spindle
Arm

“\k Drag
Link Rod

May need to drill here.

b .
N N NN

LIFT KIT INSTALLATION INSTRUCTIONS
EZGO MARATHON ELEC, 80-94

Raise the car as high as possible and place jack stands to support the car. Remove the shock
shield and bottom shock nuts, (keep the hardware). Push the shocks up and out of the way.
Remove the drag link end (outer) from the spindle arm. It is best to use a seperator tool for
this to protect the stud threads. You should break the jam nut loose on the drag link before
you remove it. Remove the eight bolts that hold the axle. Remove the axle. Install the riser to
the car using 8 of the 1 1/2” bolts (do not tighten) and then install the axle to the riser using 8
of the 1 1/4” bolts. Now, tighten all the bolts. Install the shock extenders using 2 of the 1 1/4”
bolts and align to the best angle & clearance. Install the drag link end into the spindle arm
the opposite way it was removed. You may need to drill the hole with a %" drill bit down % of
an inch. Torque the nuts and bolts to 30 - 35 foot pounds.

Risers Shock Extender

Jam Nut

Spindi Arm

Drag _|
Link ™|

Drag _
Link Rod

Turn Upside |
Down Like™]
This

Spindle
Arm

rd
Jam Nut

WWW.STEELENGGOLFCART.COM

AN N

"
~
~

‘f\

\\MMMMM/%



/Q°

oV RETURN MERCHANDISE AUTHORIZATION

Dear Valued Customer,

Thank you for choosing Steeleng Golf Cart Accessories for your golf cart needs.

We apologize for the issues you are having with your purchase. We strive to offer the absolute best

quality at the absolute best price.

To best serve you, we do need a little information to help process your return and/or exchange faster.

Please complete the following and include this entire form with your return.

Name

Shipped To Address

Purchased with: eBay

This is for EXCHANGE REFUND

Please describe reason for return:-

STATE ZIP

Direct Phone Order

Our Return Address:

Steeleng Golf Cart Accessories
3309 Laurens Road,
Greenville, SC 29607

Tele: 864-675-1103

For Office Use Only:
Received By:

Date

Refund Amount

Exchange Issued

**Steeleng Golf Cart Accessories reserves the right to charge a 15% restocking fee for all returned

and/or exchanged items.



